Reflex Action

» The whole mechanism of reflex action occurs in such a fashion

that there is no conscious control of the brain.

» Stimulation occurs through the peripheral nervous system and

the response to this peripheral nerve stimulation is involuntary.

» In a reflex action, the spinal cord along with the brain stem is

responsible for the reflex movements.
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A few examples of reflex action are:
yfadt fohar & $ IS8 &

J When light acts as a stimulus, the pupil of the eye changes in size.
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J Sudden jerky withdrawal of hand or leg when pricked by a pin.
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J Coughing or sneezing, because of irritants in the nasal passages.
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J Knees jerk in response to a blow or someone stamping the leg.
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 The sudden removal of the hand from a sharp object.
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d Sudden blinking when an insect comes very near to the eyes.
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Reflex arc:

Reflex is a neurological mechanism or pathway that controls

reflex.

Reflex or reflex action refers to the instantaneous response to

the stimuli without thinking.

In reflex arc as soon as the spinal cord receives a signal the

response will be seen even before the brain gets the single.

Whenever we touch any hot object the immediate response

seen is an example of a reflex action.
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1. Nervous System consists of:

(A) Brain
(B) Spinal Cord
(C) Nerves
All the above
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2. Which of the following statement is correct about

Cerebellum?
(A) It regulates the muscular movement for locomotion.

(B) It is a part of brain.
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- - ){Both A and B
(D) Neither A nor B
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3. Which nerves are attached to the brain and

emerge from the skull?
Mng:anial Nerves
(B) Spinal Nerves
@ (C) Thoracic Nerves
(D) Sacral Nerves
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4. Name the system that controls every activity

that vou do?

)[I:Jervous System ‘

(B) Exocrine System
(C) Endocrine System
@ (D) Respiratory System
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S. What is the unit of Nervous system?

(A) Brain
(B) Spinal Cord
)|Neuron
(D) Nerves
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6. A microscopic gap between a pair of adjacent neurons

over which nerve impulses pass when going from one

neuron to the next is called:

)L (A) Xeurotransmitter
A( [ Synapse \

(C) Axon

a

’B (D) None of the above
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7. In our body involuntary actions are controlled

by: :
Medulla in Hindbrain

(B) Medulla in Forebrain

(Y]epluiﬂk@ (C) Medulla in Spinal Cord
0 s (D) Medulla in Midbrain
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8. Those reflex actions which involve brain are

called:

(A) Saimulus
~ce)’l€b7'wQ ﬁegeexeg. \,(JB))( |Cerebral reflexes |
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/ ' (D) Reflex arc
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9. Pons, cerebellum and medulla are part of

which brain?
(A) Forebrain

(B) Midbrain
ﬁndbrain ‘

(D) None of the above
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10. Spinal Cord originates from which part of the
brain?
(A)Lerebellum
/ Wedulla \
(C) Pons

(D) Cerebrum
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11. Which of the following does not act as a

neurotransmitter?

(A) Acetylcholine
L (B) Epinephrine

(C) Drorepinephrine
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12. IS a quick response to the stimuli that

passes the brain.
) Reflex action
(B) Voluntary action
(C) Knee jerk
@ (D) Receptors
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13. The brain stem is composed of

(A) Brain buds and flowers
(@; (B) Spinal cord
(C), Axon and vertebra
uﬂ{fleduﬂa pons and middle brain tissue
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14. What connects two hemispheres of the brain?

(A) Pons

(B) Pramatter
mus callosum |
* (D) None of the above
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15. Which part of the brain controls higher

mental activities like reasoning?
(A) poral lobe
Frontal lobe I

(C) Medulla oblongata
(D) All of the above
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16. What is the unit of Nervous system?

(A) Brain
(B) Spinal Cord
)Neuron |

(D) None of these
dfarent @ Y TS AT E?

@ (A) Aitash
(B) &S
sefezm]

(D) 379 & I3 &




17. Which of the following statement is correct about

Cerebellum?
(A) It regulates the muscular movement for locomotion
(B) Jtis a part of brain
) Both A and B |
(D) Neither A nor B
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18. Which part of the brain controls emotion

experiences?
(A) Pia matter
(B) Hypothalamus
\/ )|Limbic system \
(D) None of the above
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19. The supporting and nutritive cells found in

brains are

(A) Oligodendrocytes
JBelijtrocytes 1

(C) Microglia

(D) Ependymal cells
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20. The cerebellum is located between the cerebrum

and the brain stem in the back of the head. It helps in

(A) Breeathing and controlling blood pressure

Balance and coordination ‘

(C) Voluntary movement

(D) None of the above
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21. The outer covering of the brain is covered

with
(A) Axons
(B)|Nerve cells ‘ i

(C) Pons

(D) None of the above
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22. Fluid filled cavity in the brain is called as

(A) Matter
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23. Which of the following is the main thinking

part of the human brain?

(A) Bind-brain
) Cerebrum

(C) Mid-brain

(D) None of the above
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24. Dendrites and Axon are parts of which cell?

(A) Red blood cell
Neuron

(C) Nephron

(D) White blood cell
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25. Centre for heat, touch, cold and pressure are

in
(A) Frontal lobe

(B) Ogcipital lobe
\)Zflfua:ietal lobe
(D) Frontal as well as occipital lobe both
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26. controls involuntary activities like

coughjng and sneezing.
(B) Cerebrum

(C) Pons

(D) Cerebellum
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27. Which part of the brain controls the heart?

(A) Spinal Cord
Medulla Oblongata ‘
(C) Neuron

(D) None of these
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28. Blind spot in human eye can be located at the

(A) Left end of Ciliary muscles
unction of the op-tic nerve and the retina |

(C) Centre of eye Lens

@ (D) Both ends of Cornea
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29. Which one of the following organs will not feel

any pain on being pricked by a needle?
(A) Skin
Brain
(C) Heart
(D) Eye
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30. Which of the following controls the beating of

the heart and respiratory movement in human
beings?
(A) Pituitary gland
(B) Spinal nerves
(C) Spinal cord
@ Freaferfam & & w7 wyva § gaa it arga o
g i i e war 22
(A) e Tt
(B) {ig it &t it 7@

‘ A(Cjagmanaw‘m




31. Which of the following is NOT correct for cerebellum?

(A) It lies in the posterior region of the brain

) It controls movements, speech, sight, smell, taste,
hearing, intelligence etc.
@ (C) It is a part of hind brain
(D) It maintains equilibrium of the body
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32. Which of the following is not a part of the

hindbrain?
(A) Pons
(B) Cerebellum
) Cerebrum ‘
(D) Medulla oblongata
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33. The cerebellum is concerned with

(A) Remembering and hunger
) Coordination of muscular movement

(C) All involuntary actions




34. In reflex action, reflex arch is formed by

(A) Brain — Muscle — Spinal cord |
: ‘E) Receptor — Spinal cord — Muscle \
(C) Muscle — Brain — Spinal cord
@ (D) Muscle — Receptor — Spinal cord
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35. Which of the following receptors are

responsible for smell and taste?

(A) Thermoreceptors
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36. Which one of the following makes up Central

Nervous System together with the brain?
(A) Neuron

> (B) Brain
/ \§F; : \’(gﬁ;inal Cord-‘

(D) Central Nervous System
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37. Name the white fibrous connective tissue that

joins muscles to bones.

(A) Ligament

(B) White blood tissue

(C) Cartilage

Tendon
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38. Parkinson's disease affects which of the

following organ in human beings?

(A) Lungs

ny@l endocsine %&EQ

(C) Heart : ~N>)

(D) Kidneys |
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39. Which of the following is the smallest cranial

nerve in humans?
(A) Optic

(B) Facial

(C) Trigeminal
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40. is the main thinking part of the brain-

(A) Medulla
Forebrain
(C) Spinal cord

@ (D) Middle brain
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41. Which part of the brain maintains posture

and equilibrium of the body?

(A) Fore-brain

(B) Mid-brain
Hind-brain

(D) Spinal cord
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42. Glial cells are the most abundant cells in:

(A) Lungs
(B) Kidney
(C)

Nervous sy
Glial T




43. Which of the following does not act as a

neurotransmitter?
(A) Acetylcholine
(B) Epinephrine
(C) Norepinephrine
\ fU)ICortisone \
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44 IS a quick response to the stimuli that

passes the brain.

,(4()“ Reflex action

(B) Voluntary action

@ (C) Knee jerk

(D) Receptors
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45. The brain stem is composed of

(A) Brain buds and flowers
(B) Spinal cord

(C) Axon and vertebra
Medulla pons and middle brain tissue |
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49. Name the system that controls every activity

that you do?
(B) Exocrine System
@ (C) Endocrine System
(D) None Of The Above
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